>
N & o & AF & H A A
20178 & =04 LEHSIH &S
SAD SIS
BH: 25 o }FAL
el HgsX (&)
SA - BB B () - MM - BES Ol &t o San HmEET
&It 0t 57,644,690 64,029,931 A6,385,241
= 31,677,352
J| 282,451
Al 21,734,934
T Hl 3,949,953
25 2 I}HEAH 57,625,770 64,016,691 A 6,390,921
= 31,672,352
J| 282,451
Al 21,734,934
T Hl 3,936,033
HE =X 3,305,059 2,796,478 508,581
= 1,422,757
J| 282,451
Al 1,396,974
Tl 202,877
ALINBRNAEH 29 179,694 171,060 8,634
= 89,847
Al 44,924
Tl 44,923
307 21201 A 179,694 171,060 8,634
= 89,847
Al Hl 44,924
Tl 44,923
05 BIZHRI & 3 179,694 171,060 8,634
OH2INFXNAEH 28 XA 179,694,000& 179,694
= 89,847
AlHI 44,924
L Hl 44,923
HARAJNNEX A 140,000 140,000 0
= 70,000
AlHI 70,000
307 glz2tol & 140,000 140,000 0
= 70,000
AlHI 70,000
05 RIZHRI & 3 140,000 140,000 0
OJsdg2dst X 140,000, 000& 140,000
= 70,000
Al HI 70,000
ROt 220= 4,580 0 4,580
= 2,290
AlHI 2,290
307 21201 A 4,580 0 4,580
= 2,290
AlHI 2,290
05 RIZt2IEt = 4,580 0 4,580
orzaz2ds A 4,580,000 4,580
= 2,290
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M 08I ED
g 25 ¢ HEXNE
el ot e =X CEEEED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
| AlH 2,290
otolss XN& 1,702,299 1,327,000 375,299
= 1,191,610
Al 510,689
307 21201 & 1,702,299 1,327,000 375,299
= 1,191,610
Al 510,689
05 Rzt E = 1,702,299 1,327,000 375,299
ootolss X& 1,702,299,000& 1,702,299
= 1,191,610
Al 510,689
SsS0tLsH 29 50,000 40,000 10,000
- 28,000
AlH 12,000
“Hl 10,000
307 glz2tol & 50,000 40,000 10,000
= 28,000
Al 12,000
L Hl 10,000
05 RIZt2IE = 50,000 40,000 10,000
Oss=s0tlsH XA 50,000,000& 50,000
= 28,000
Al 12,000
T Hl 10,000
HZ= JIZEY NdgL 2Y 71,700 70,045 1,655
2 35,850
AlHI 35,850
307 glz2tol & 71,700 70,045 1,655
= 35,850
Al 35,850
11T ALSI S XA E = 71,700 70,045 1,655
OAtet JHE =544 29 XN
71,700,000& 71,700
= 35,850
AlHI 35,850
ASH tFE MG L BAR XY (AH) 5,400 5,400 0
Al 5,400
307 glztol & 5,400 5,400 0
Al 5,400
11T MISRASEEX 5,400 5,400 0
OAtol HE =2 4L 29 5,400,000& 5,400
Al 5,400
ELTE S (Al 427,000 427,000 0
Al 427,000
301 et d = 427,000 427,000 0
AlHI 427,000
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A B O9(SA) - NRANY - BES il 2
01 MI2EZE+06l= 427,000 427,000 0
O & XA Z(AlHI) 427,000,000& 427,000
Al 427,000
AN = 100,000 100,000 0
301 et a s 100,000 100,000 0
01 MEIBEE 263 100,000 100,000 0
OsdX&E3 100,000, 000& 100,000
MEZ N 116,000 0 116,000
Al 116,000
301 et A=z 116,000 0 116,000
Al 116,000
01 AR 2Z A 53 116,000 0 116,000
OslESXA 116,000, 000& 116,000
AlH 116,000
Ots0detd X9l =24 7,240 7,200 40
2 3,620
Al 3,620
201 ¢et24] 7,240 7,200 40
= 3,620
Al 3,620
01 AFR2t2lHl 7,240 7,200 40
OO0ls - HdES NG 8F  7,240,000& 7,240
= 3,620
Al 3,620
SHAeE NG 29 245 3,080 3,310 A 230
2 1,540
Al 1,540
201 Let24E] 3,080 3,310 A 230
= 1,540
AlH 1,540
01 At 221l 3,080 3,310 A 230
OO0ls - HdES NAHH 22435
3,080,000 3,080
= 1,540
Al 1,540
Ct2stots XN2HH 2SR 163,134 158, 144 4,990
J| 81,567
Al 81,567
307 glz2+ol & 163,134 1568, 144 4,990
J| 81,567
AlHl 81,567
05 212t E = 163,134 158, 144 4,990
OU=Zs =X 29 XA
163, 134,000& 163,134
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M 08I ED
g 25 ¢ HEXNE
el ot e =X CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San H D=2
Jl 81,567
AlHI 81,567
HEYT L HHME S Y2DS AHl2 I(02 149,100 149, 100 0
SHOL=E)
J| 104,370
Al HI 44,730
307 21201 A 149,100 149,100 0
J| 104,370
Al HI 44,730
05 RIZt2lEt = 149,100 149,100 0
OYRu=s 149,100, 000& 149,100
J| 104,370
AlHI 44,730
CH23ot= Atddl2tel X3 20,000 20,000 0
J| 14,000
AlHI 6,000
307 ©12+0I & 20,000 20,000 0
J| 14,000
Al 6,000
05 BIZHRI & 3 20,000 20,000 0
OCU230t=E Atcll 22l X 20,000,000& 20,000
J| 14,000
AlHI 6,000
202K WEY XA (CHREIE) 3,000 3,000 0
J| 2,100
AlHI 900
307 glz2+ol & 3,000 3,000 0
J| 2,100
AlHI 900
05 RIZt2E = 3,000 3,000 0
OZ&0lgx sEd 3,000,000& 3,000
J| 2,100
Al 900
Ols90 Jt=s&8d 4 (U230tE) 16,572 16,643 AT
J| 11,600
AlHI 4,972
307 21201 A 16,572 16,643 AT
J| 11,600
AlHI 4,972
05 RIZt2IEt = 16,572 16,643 AT
OolEeo eadxy 16,572,000& 16,572
J| 11,600
AlHI 4,972
ChE3tE g g X2 58,912 58,912 0
J| 41,239
AlHI 17,673
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AN GEIEY
E: 28 9 HHAL
el HgsX (&)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 58,912 58,912 0
J| 41,239
AlHI 17,673
05 RIZHRI & 3 58,912 58,912 0
ogugg XA 58,912,000& 58,912
J| 41,239
Al HI 17,673
ZE0|2A SHAAMU A XNE(TGHE2SIHE) 17,232 17,232 0
J| 12,062
AlHI 5,170
307 glz2+ol & 17,232 17,232 0
J| 12,062
AlHI 5,170
05 RIZt2IE = 17,232 17,232 0
Os¥ AN A 17,232,000& 17,232
J| 12,062
AlHI 5,170
Ba0NE 2L (U23ItE) 22,162 22,162 0
J| 15,513
Al 6,649
307 21201 A 22,162 22,162 0
J| 15,513
Al HI 6,649
05 BIZHRIE 3 22,162 22,162 0
Ost=0ns 29 & 22,162,000& 22,162
J| 15,513
AlHI 6,649
Ct2sthtd W=EX&E 6,000 0 6,000
307 g1zl & 6,000 0 6,000
05 RIZHRI & 3 6,000 0 6,000
OtU=3aId us X 6,000, 000& 6,000
CtZ3t olal =& 23,000 21,500 1,500
201 L2l 23,000 21,500 1,500
01 At 22l 23,000 21,500 1,500
Oo0ts U2 W=sE X& 18,000, 000& 18,000
OUZaIt=E st=2stH & 5,000,000& 5,000
=X & 5,154 3,570 1,584
201 LB-2E| 1,110 1,110 0
01 At 22l 1,110 1,110 0
OSLEHANH EE S 900
E2= MA 300,000& =33l 900
OWg A dA2d 210
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M OMIED
@8 9 JEAE
el 8RR J1E =X EX
S HD B (SH) - NRAY - BAS O 4t o8 il
Al'H] 275,729
307 QI2t0| ™ 275,729 275,729
Al H] 275,729
10 Al SXAIEEE2IHIEX 275,729 275,729
OAESAX 2124H] K& 196,382,000 196,382
Al Hl 196,382
ozeley 67,347 ,000& 67,347
Al HI 67,347
OxXI=EX £ 12,000,000& 12,000
Al HI 12,000
DAUESAIYE EAX JEHEHZ XK 40,000 40,000
Al HI 40,000
301 dEtE A= 40,000 40,000
Al H] 40,000
01 MBI EXEE G2 40,000 40,000
ORNESAAE E 4K ANEHERZ XS
40,000, 000& 40,000
Al HI 40,000
SHERIIE A8 ALK AEXE XS 9,740 9,740
= 4,870
Al H] 4,870
307 QI2t01 ™ 9,740 9,740
= 4,870
Al HI 4,870
11 A SAAEE X 9,740 9,740
Ogaxt adxlz XI& 9,740,000& 9,740
= 4,870
Al H] 4,870
SHER2IIE EXAIE JgZz)s XN 2,460 2,460
Al Hl 2,460
307 212+0| & 2,460 2,460
Al t] 2,460
11T AISISXAIE E X 2,460 2,460
OstRE2IE SXAIE HEgZz0y XA
2,460,000 2,460
Al HI 2,460
SEDIENE 2SH A 570,400 570,400
= 456,320
Al Hl 114,080
301 dEtE A= 570,400 570,400
= 456,320
Al Hl 114,080
01 AL B & A %352 570,400 570,400
OstER2I= Y s £ A
570,400,000 570,400
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M 08I ED
3 8258 L JIEXE
ool R0 )Y =X B3 EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 456,320
Al HI 114,080
SEELIIEXE FIF ols=sH| XA 37,200 37,200 0
= 29,760
Al HI 7,440
301 Bt A= 37,200 37,200 0
= 29,760
Al HI 7,440
01 AR E & A 462 37,200 37,200 0]
OFJt oksg=Hl XI& 37,200,000 37,200
2 29,760
Al HI 7,440
SIERIIETE OlSNEH(=E0M st2£H|) X 8,680 8,680 0
= 6,944
Al HI 1,736
301 et A= 8,680 8,680 0
= 6,944
Al HI 1,736
01 Al E& A 46 2 8,680 8,680 0
OO0lsSWEHI(ZEOM st2ZH|) X
8,680,000& 8,680
2 6,944
Al Hl 1,736
SEQIENE MBBIIX 3,720 3,720 0
2 2,976
Al HI 744
301 et A= 3,720 3,720 0
2 2,976
Al HI 744
01 Al E& A 462 3,720 3,720 0
OBREIERY MB2ES N
3,720,000& 3,720
2 2,976
Al HI 744
SHE2IIE tE K& 396,000 396,000 0
Al HI 396,000
301 et A= 396,000 396,000 0
Al HI 396,000
01 Al E & A 462 396,000 396,000 0
Oz WsEH| 262,000,000& 262,000
Al Hl 262,000
OxssM &=5E 16,000,000& 16,000
Al HI 16,000
Ot AH(DSstM) nsdl A
118,000,000 118,000
Al HI 118,000
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M 08I ED
g 25 ¢ HEXNE
ol BRQ JlE =X =3 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SANE F=HXE 1,180 1,180 0
AlHI 1,180
301 gt d= 1,180 1,180 0
Al 1,180
01 Ml2ZE 6= 1,180 1,180 0
SUNE FAHAXNEH 1,180,000& 1,180
Al 1,180
dA4 o282 ots2LsH A& 23,098 23,098 0
= 18,478
AlHI 4,620
301 et a = 23,098 23,098 0
= 18,478
AlHI 4,620
01 M3IBZE+06l= 23,098 23,098 0
OF¥ad 822 I8 XN& 23,098,000 23,098
= 18,478
Al 4,620
%R0 K408 x4 52,826,562 59,726,064 26,899,502
= 29,616,899
Al 19,476,507
Tl 3,733,156
geoE2sz N 20,399,000 26,096,000 25,697,000
= 15,299,250
Al 3,569,825
I 1,529,925
307 21201 A 20,399,000 26,096,000 25,697,000
= 15,299,250
Al 3,569,825
I 1,529,925
05 RIZt2IEt = 20,399,000 26,096,000 25,697,000
OgxrotE2sz XA 20,399,000, 000& 20,399,000
= 15,299,250
AlHI 3,569,825
T Hl 1,529,925
FoltE K& 9,225,000 11,067,200 A 1,842,200
AlHI 9,225,000
307 gl2+tol & 9,225,000 11,067,200 A 1,842,200
AlHI 9,225,000
05 BIZERIE 3 9,225,000 11,067,200 A 1,842,200
Ofcltd 282 XA 9,225,000, 000& 9,225,000
Al 9,225,000
CHAHEOHE tHE=sE X 56,000 0 56,000
AlHI 56,000
307 glz2+ol & 56,000 0 56,000
AlHI 56,000
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AN GEIEY
B 88 U RIS
&??: & - R0 I8 =4 (&)
= _ — d =
SA - BB B () - MM - BES Ol &t o e HmEET
10 AL SXNAIEEE2EH EX 56,000 0 56,000
O OXHIIE HeEsz XIJ 56,000,000 56,000
Al Hl 56,000
HEMASSE JNUEEZ N2 36,000 31,000 5,000
Al HI 36,000
307 glz2+ol & 36,000 31,000 5,000
AlHI 36,000
10 ALSISEXAIEEE2EHEX 36,000 31,000 5,000
OHEMNASEES IHWUEFEZ K& 36,000,000 36,000
AlHI 36,000
HIZOHOF gtE: 283 X 7,387 17,015 A9,628
Al 6,500
-4l 887
301 e A3z 7,387 17,015 A9,628
Al 6,500
Tl 887
01 MI2ZHE 6= 7,387 17,015 A9,628
OHlZoHor grs 22 X 7,387,000 7,387
AlHI 6,500
I 887
L= (HE0lE 0l0IE0ts) 10,933,333 11,733,333 A 800,000
= 8,200,000
AlHI 1,913,333
T Hl 820,000
301 LEtE L= 10,933,333 11,733,333 A 800,000
= 8,200,000
AlHI 1,913,333
T Hl 820,000
01 MEIBZE 406z 10,933,333 11,733,333 A 800,000
Oolglold ololEots d=X&
10,933,333, 000& 10,933,333
= 8,200,000
AlHI 1,913,333
L Hl 820,000
AMZERHIESAHEIA WS K& 102,760 39,036 63,724
= 51,380
AlHI 25,690
T Hl 25,690
301 LEtE A= 102,760 39,036 63,724
= 51,380
AlHI 25,690
T Hl 25,690
01 MEI2BEZE 405z 102,760 39,036 63,724
OANAXEE B8 X 102,760,000& 102,760
= 51,380
Al 25,690
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M 08I ED
3 8258 L JIEXE
oelr @ R0 FAI £4 CER-ED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
| - HI 25,690
oglold 2 XK (WM wFH|) 91,976 85,760 6,216
= 55,186
Al HI 25,753
T 11,037
307 2Iz2t0| A 91,976 85,760 6,216
= 55,186
Al HI 25,753
T 11,037
10 M SXAANEEHESIGHEX 91,976 85,760 6,216
O0golE WY X< 91,976,000 91,976
= 55,186
Al HI 25,753
24| 11,037
Helold s&sts & =3 A 95,518 95,518 0
Al HI 95,518
307 QI2t0| ™ 95,518 95,518 0
Al HI 95,518
11T A EXAIEEX 95,518 95,518 0
ONel ol s&sts & 23 AR]
95,518,000 95,518
Al HI 95,518
2ol 2EXA(XH2Hd|) 2,400 2,400 0
= 1,440
Al HI 672
24l 288
307 giztol A 2,400 2,400 0
2 1,440
Al H] 672
I 288
10 M3 SAANEEHESIHEX 2,400 2,400 0
ONelold xXtex2ddl XA 2,400,000 2,400
2 1,440
Al HI 672
Tyl 288
HEXE Helold xged X 11,600 11,600 0
Al Hl 11,600
307 212t0| & 11,600 11,600 0
Al HI 11,600
10 A SEXNAEEHESIGHEX 11,600 11,600 0
OFLXE 20T HP2Y X2
11,600,000& 11,600
Al HI 11,600
Or2t0igl ol 2BelA2 HYlA X 900 900 0
Al Hl 900
307 QI2t0| & 900 900 0
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AN GEIEY
g 25 ¢ HEXNE
el g KO0t 4018 &4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 900
11T MISXASEX 900 900 0
OO02tH el old Zela3 HMdla K&
900,000 900
AlHI 900
OtOIAtE 2ER2ZLIHEH 2 7,662 8,248 A 586
= 3,831
AlHI 1,824
T Hl 2,007
301 et d =S 7,662 8,248 A 586
= 3,831
AlHI 1,824
T Hl 2,007
09 SALAHIE& S 7,662 8,248 A 586
OO0t0IAIE 22 2LIHY gsX&
7,662,000 7,662
= 3,831
AlHI 1,824
L Hl 2,007
238 Helold X& 808,064 606,048 202,016
= 484,838
AlHI 226,258
T Hl 96,968
307 glz2tol & 808,064 606,048 202,016
= 484,838
AlHI 226,258
T Hl 96,968
11T M SXAISE EX 808,064 606,048 202,016
O338 oHgold XA 808,064 ,000& 808,064
= 484,838
Al 226,258
-l 96,968
238 Heold xel&d oAl X 57,600 0 57,600
Al 57,600
307 21201 A 57,600 0 57,600
Al HI 57,600
10 ALSISXAIEEE2GHEX 57,600 0 57,600
O3&2E Heold xeld oAl
57,600,000& 57,600
Al 57,600
ot THIE HE 0l BAA AR 233,000 198,000 35,000
AlHI 233,000
307 glz2+ol & 233,000 198,000 35,000
AlHI 233,000
10 ALSISEXAIEEE2EHEX 233,000 198,000 35,000
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M 08I ED
Ha: 28 2 JFAL
oelr @ R0 FAI £4 CER-ED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OZII THHelES Helold EsnAF 3¢
233,000,000& 233,000
Al HI 233,000
B AJ olAH XA 6,570,796 6,190,269 380,527
= 3,943,641
Al HI 1,840,172
T 786,983
307 2Iz2t0| & 6,570,796 6,190,269 380,527
= 3,943,641
Al HI 1,840,172
Tyl 786,983
10 M SXANEEHESIGHEX 6,570,796 6,190,269 380,527
OUEI0ld SAFXR 1dd| K&
6,570,796,000& 6,570,796
= 3,943,641
Al HI 1,840,172
T 786,983
ESNA2A HRMH XN (BXWACI2AH]) 659,039 489,000 170,039
= 395,615
Al HI 184,397
Tl 79,027
307 2Iz2t0| & 659,039 489,000 170,039
= 395,615
Al HI 184,397
Tyl 79,027
10 MM SXANEEHESIGHEX 659,039 489,000 170,039
O0E0olE EXWAF Q24| 659,039,000 659,039
= 395,615
Al Hl 184,397
24| 79,027
E2WNXN2A HRAMA XN (HBI0IZDAI2LEAMNS 1,969,531 1,709, 144 260,387
)
= 1,181,718
Al HI 551,469
T 236,344
307 2Iz2t0| & 1,969,531 1,709, 144 260,387
= 1,181,718
Al HI 551,469
Ty 236,344
10 M SXNANEEHESIGHEX 1,969,531 1,709, 144 260,387
QLA 22&8H s X 1,969,531,000& 1,969,531
= 1,181,718
Al Hl 551,469
24| 236,344
HHEEHEO0IE BESUAI E45EY 18,000 17,000 1,000
Al HI 18,000
307 gizto| A 18,000 17,000 1,000
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2N

o4
B 88 U RIS
&??: & - R0 I8 =4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al'H] 18,000
10 ALSISXAIEEE 22X 18,000 17,000 1,000
OHZMMNEEHEO0IE EFWA Ex+=E
18,000, 000& 18,000
AlHI 18,000
QI2k, JtE0E0lE BSALL S+ K& 1,380,000 1,187,000 193,000
AlHI 1,380,000
307 212+0| & 1,380,000 1,187,000 193,000
AlHI 1,380,000
10 ALl SXAIEEE 2 H EX 1,380,000 1,187,000 193,000
Ozt - JIEE0d SML SX=E X
1,380,000, 000& 1,380,000
AlHI 1,380,000
grzt, JIE0 el E|suA #2585 16,996 0 16,996
AlHI 16,996
301 gt d= 16,996 0 16,996
Al 16,996
01 MI2EZE +06l= 16,996 0 16,996
O 2ZIIENE0E E|SA 325+
16,996, 000& 16,996
AlHI 16,996
oelord Xa 144,000 108,875 35,125
201 Let24dH] 19,000 19,000 0
01 At 22l 19,000 19,000 0
Ox2dus ZAsE S 2,500,000& 2,500
O2XM oelold A1 Xt 16,500
-2 EE 750,000 »23| 1,500
=N 1,500,000& 102 15,000
203 R = Y| 800 800 0
03 Al =AY R =& 800 800 0
OE=g: gRx2d 800,000& 800
307 gl2tol & 124,200 89,075 35,125
11T AS S RAEE = 124,200 89,075 35,125
oogold st22 A2dns XI& 1,000,000 1,000
ool Hgsl X& 2,000,000 2,000
O ofgold Hdl X 40,000
- 100 0] &f 250,000 *200H 2 5,000
- 50~99Y 230,000 *400H 2 9,200
- 21~49Y 190, 000 & *604 A 11,400
- 20 0l ot 160,000 *90H 2 14,400
ONgold Hdl XI& 78,000
- 1002 0] &f 525,000 *200H 2 10,500
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P~}
2 2 XA
g - |0t I8 =4 o &)
= _ — d =
SA - B (SH) - MRAY - BYS e 2
- 50~99Y 450,000 *400H £ 18,000
- 21~49Y% 375,000 *60H 2 22,500
- 20F 0l ot 300,000 90K & 27,000
O2XdtE Heoldy dIIes N&E
100,000& =123 1,200
O&dg, Us0eod sa=2eE 5271 2
=[ENE 1,000,000 «2J4 & 2,000
S S 2t 5,480 5,480 0
= 5,000
L Hl 480
SstolgF8 XA 5,480 5,480 0
= 5,000
T Hl 480
Ss0lE=0 XNGEgos 29 5,480 5,480 0
= 5,000
T Hl 480
201 ¢4l 4,500 4,500 0
= 4,500
01 ArR2t2ltl 4,500 4,500 0
SE0lEF0 XNSEgas 2 4,500,000 4,500
= 4,500
203 YR =2t 980 980 0
= 500
I 480
03 Al =AY R =& 980 980 0
O=stolgx Ao s ALEW
500,000& 500
= 500
O=solgzol YA 480,000 480
HY2HZH (A=) 13,440 7,760 5,680
Jl=&l 13,440 7,760 5,680
Jl2Z34 13,440 7,760 5,680
201 LEr2A | 10,440 6,100 4,340
01 AtR 22l | 10,440 6,100 4,340
ORNEZ2E+=EHl 5,400,000& 5,400
ORM2E=2EH 5,040,000& 5,040
203 YR =2l 3,000 1,660 1,340
04 EAS2IYRFLH| 3,000 1,660 1,340
ORAN2EYE=4HI 3,000,000 3,000
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